
MAT 290OOS 22 Finol xam ( 

O 9x x?= lX=+l 17esechm pls 

CX=t, yet", t =x=-t..I 

e b12>, THI= <1, 267 Clt) 

C2Xt) y=i, 
t=l..-1 (reverse) 

G=<t, L>, F/o= 1,0 
t X 

bSxydx + Yydy= dx+ dy 

Fy F=x'y 

oy A 
2Xy +2X 2(Y1X)y 

y= 

SS 
dA = S20y dy dx 

R 
2 

y xl whe x=A..l 

CUen 
0dd 

F(Xy= -x?yfxy 

d) C: F) = <-t'(t), t{E9> = <t,t9 

Fy A) = <-E6,t (i,2t7= -t+2ts 

C: PreN = <-432 t1) =13t> 

PG)-T = <tED<A,07 t2 

Fd-tat = -
SFid SFur+ SF = -2+3= 2 () = a 

yes 



MAT2 SO6-OS 22F Anal Ham C2) 

a) F= < 3x®y2-3y, Xz-3x, xy +22 
F 

ar -, 5, 

0,6,0 

F-7f b mlegohe 
=F= 3xya-3 5 S3y2-34 dx 

wt x y2-3yx + C(y,=) 

X2-3x x3y2 -3Xy + C(,2) 

2 
X2-3+ e)= z3X 

nteyrale y 3,2)=o 

urt y CCy2)= Ca(2) (nd ofy 

xyz-3xy+ C2(a)-
= xy-0 +(2) 

S 

g+Cla)xy +az 

C2 (a) = 2 

negrae 
wrt CCa) = 2(2) + k ?? + 

So X3y2 -3xy + 27+ e 
dur any R 



MAT2SU0-oS 27F Final Eam( 3) 

S(xya) = x*y2 -3xyt2 +X Can set lk =0 

Cwll ancel out anywa) 

Sa,11) |H-3 *| I-3 t+= - 1 
fo,o,o) = 

SFd Say)-ft%, 0,0) 

) T(=<aY= {tyt¢> 
<1,26,3t* 

Fvya)= 3x'yz -34,x7-3 ,*y taE 

P(e)= <3t?()E)-33, t3t)-3t, tR)+2 t3> 

347-3t3, t-3t t5+t 3> 

F(Pon Tt)= kt7-3+)() + (t-36 ) (zt) + (tS+2t3)( 3H) 

317-3t2 +2t7-6t2 3t 7+ 6t 

8t-9 t24 6t5 

8 6t-9E2 dt 

+-5= I+|-3 - agreos 



MAT2SU0-0S 22F inal Exam (4) 

F-CFE7= y 
x27 X2+y2 

= k. yD(1)-x (2x+) 
&+y) 

tyay") 

R R (2+y2-2x) = k (*+y2 
Cx 2+y2)* 

-ey (2x) 
2+y)*2 

x7+y3) 

2/ ky 
-2X 

2(xy 
2y) 2 

suildh 
Xmdy =(Rx (x4y)) 

= kxay) +2)= o 
2+y)2 

-x (2y) 
24y2 

(x?) 

Czx)= k 

XZ4y2 xy 
dFz-d = 2xy +2x -o 

h ey = f 
O x Z4-y2 so ad mrts a olenhal 

functian 
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